INCH 80A108

+ |

TS

LEFT SIDE VIEW
DOOR CLOSED

[]
§
v v (23Y24Y 28\
\JIAIALY/
110
1/
[26)
DOOR DETAIL &,
§ $ §
TOP VIEW
DOOR REMOVED
30.00’Lg
® N
T
I
6 Y 8Y N s ol
1AL/ o
®
23.00"Lg
/jj/o PO £ i
@/ B
® o
FRONT VIEW

DOOR REMOVED

23.00"Lg

RIGHT SIDE VIEW

2 1

I DESCRIPTION WEIGHT

1 80E102 LOAD PAN ASSEMBLY 59 Lb
2 1 | 80E103 LOAD DODOR ASSEMBLY 31 Lk
3 1 | 80E104 LOAD BUSS ASSEMBLY 28 Lb
4 L | 80E105 SHORE POWER ASSEMBLY - Lb
5 1 | 14785AS3LID SUPPORT RH 1 Lb
6 1 |14785A51LID SUPPORT LH 1 Lb
7 1 | eX288 EMERGENCY SHUTDOWN - Lb
8 8 19905  1/4-20x1 WHIZLOK BOLT 1 Lb
2 8 37373  1/4-20 WHIZLOK NUT - Lb
10 1 13007  1/4-20x1-1/4 BOLT - Lb
1 1 |[80E144 LOAD PAN WEATHER SHIELD 2 Lb
12 36302 1/4-20 NUT 1 Lb
13 33618 1/4* LOCKWASHER - Lb
14 33004  1/4* FLATWASHER - Lb
15 27333 #6-32x1-1/4 SCREW - Lb
16 36020  #6-32 NUT - Lb
17 33070  #6 FLATWASHER - Lb
18 33610  #6 LOCKWASHER - Lb
19 70005 1/4-20x1 STAINLESS STEEL BOLT 2 Lb
20 71063 1/4* STAINLESS ST LOCKWASHER - Lb
21 71803  1/4° STAINLESS STL FLATWASHER - Lb
22 REMOTE S/S_ AUTO CONTACT - Lb
23 54D150 GASKET DOOR LATCH - Lb
24 HOOK/LATCH BLACK DOOR LATCH 2 Lb
25 D-2685 WHITE DOOR SEAL - Lb
26 S |93342 LICENSE PLATE BOLT - Lb
27 1 | 80E137 LOAD DOOR SUPPORT CPART OF 80E103) - Lb
28 8 |41427 3/16 POP RIVET - Lb
29 8 | N1125257 1/4* NEOPRENE WASHER - Lb
TOTAL 128 Lb

DATE
BY

ALTORFER POWER SYSTEMS
6315 W. FAUBER RD. PHONE (309) 697-1234

BARTONVILLE, IL 61607 FAX (309) 282-7546

CHANGE NOTICE

THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF ALTORFER, INC. WITHOUT THE WRITTEN PERMISSIOI
OF ALTORFER, INC, ANY COPYING OR OTHER USE EXCEPT THAT FOR WHICH IT WAS INTENDED IS PROHIBI

PROJECT REFERENCE

aLL TENSIONS IN ivcres[FILE

UNLESS OTHERWISE SPECIFIED DF\B0E APSB800

TOLERANCES: THIRD SCALE/SHEET SIZE DRAWN BY QUOTE NUMBER

XX £ 0400 | ANGLE

XXX + 0,060| PROJECTION 1=10/B D. RICHARDSON

X0 & 0005 SHEET DATE VORK ORDER NUMBER
ANGULAR & 1 @ = 10F1 11/15/04

DRAVING NUMBER

80A108

LOAD PAN ASSEMBLY
I




